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Time Allowed : 2 Hours] [Maximum Marks : 100
1. Which of the following winds are known as ‘Anti-trade winds' ?
(A) Chinook (B) Cyclones
(C) Typhoons (D) Westerlies
2, Intra district migration in India is dominated by :
(A) Rural to Rural (B) Urban to Rural
(C) ' Rural to Urban (D) Urban to Urban
3. Which of the following glaciers is not located in Karakoram Range ?
(A) Siachen (B) Hipsar
(C) Baltoro (D) Sonapani
4. The speed of rotation of the earth is the highest :
(A) Along the equator (B) At the North Pole
(C) Along the tropic of cancer (D) Along the arctic circle
5. Who is not the member of BRICS ?
(A) Bhutan (B) Russia

(C) India (D) China
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6. Which one among the following is the correct sequence of the rivers from

North to South ?
(A) Damodar—Brahmani—Mahanadi—Tungabhadra
(B) Damodar—Mahanadi—Brahmani—Tungabhadra
(C) Brahmani—Tungabhadra—Damodar—Mahanadi
D) Damodar—Brahmani—Tungabhadra—Mahanadi
7. Which one of the following is Warm Ocean current ?
(A) Canary (B) Labrador
(C) Gulf stream (D) Kauril
8. “Chipko Movement” is associated with :
(A) Forest conservation (B) Water conservation
(C) Tiger conservation (D) None of these
9. The iron ore from Kudremukh is most likely to be exported through :
(A) Ennore (B) Gt;a

(C) Kochi (D) Mangalore
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6. mﬁa&w&ﬂmaﬁmmmuﬁmﬁwﬁfmﬁﬂmt?
(A) ETHET— AT — HEET— 9%
(B) TTHIE—WETa1—FEIvi— vzl
(C) WEIoR— gz — el — Heral
(D) TR — R —gvigT— et
7. frefafas 3 § F9 3= wwErr o § 7
(A) #Hd (B) e@IER
(C) TEE W D) HftE
8. ‘fawm wigew’ feed wafmm ¥ 2
.m)u-lm'zm (B) e, FeEm
(C) = HEm (D) ¥ A FE T
T G p——" e S Sy S
(A) TR (B) T

(€ =fe - (D) FTER
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13.

14.

Which of the following cities is associated with diamor;d indusltry ?
(A) Mumbai (B) Surat

(C) Gandhinagar (D) Jaipur

The oldest oil refinery in India is at :

(A) Digboi, Assam. (B) Haldia, Kolkata

(C) Koyali, Baroda | (D) Noonmati, Assam

Which type of clouds cause the heaviest down pour ?

(A) Nimbo—Stratus (B) Strato—Cumulus

(C) Cumulo—Nimbus (D) Cirro—Stratus

The World Meteorological Organization (WMO) is based in :

(A) Washington . (B) Geneva

(C) Moscow (D) London

Which one of the following landforms is not ‘associated with glaciations ?
(A) Hanging valley (B) Moraines

(C) Inselberg (D) Drumlin
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10. Frefafes § & = v @0 39m | 595 ¥ 2
A) T (B) g
(C) THTR (D) FAR
11. ¥=8 [E b foegsd 9ma § F&l & 2
(A) femaird, smam (B) wfezn, ®ram
(C) aeh, a2ET (D) “Fwdl, 3EW
12. fﬁvmﬁmﬁﬁmﬁﬂiﬁ%?
(A) FE—-==a (B) wA—FgAd
(C) Fgen—fHay (D) fE-==y
13. fava daw fasm @med (WMO) @l fega ® 2
(A) =fime | (B)
(©) e (D) @A
14. ma-m‘(mdrom)ﬁﬁmﬁmﬁﬁmwt?
(A) fredt =@ (B).W

(C) FHe= (D) =ufeA
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15. Which country is called the sugar bowl of the world ?
(A) India (B) Cuba
~(C) USA (D). Indonesia
16. Which state earned the name of “Fruit Bowl” of the country ?
(A) Jammu & Kashmir (B) Uttrakhand
(C) Uttar Pradesh (D) Himachal Pradesh

17.  The Latitude belts between 30° and 35° North and South where winds are

light and variable are known as :
(A) Trades (B) Horse latitudes
(C) Doldrums (D) Highs
V18. Omnivores refers to such animals whose food is :
(A) Plants "(B) Meat

(C) Plant and Meat (D) None of these
PGT(GEOGRAPHY)-2016—A 8
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18.
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(C) Tz-d9 ik =iy D) T A =g
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19.

20.

Match the following :
(@) Prairies
(b) Savannas
(e) Selva
(d) Taiga
Which one is the correct answer ?
Codes :

@ @) () ()
(A) 2 1 @ @3
B) (2 4 @) @3
© & @O @ (@
D) 3 @ qQO @

(1)
(2)
(3)
(4)

Equatorial regions
Temperate grasslands
Coniferous forests

Tropical grasslands

Match the following scholars with the field of specialization :

List I
(@) Richard Hartshorne
(6)  Friedrich Ratzel
(e) William D. Thornbury
(d) Trewartha
Codes :

@ (b)) (e (d)
A) 3 1 @ @
B @4 @& @O @
(C) M (2 @ 3
D (2) ) @) (1
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List II

Climate

Areal Differentiation
Geomorphology
Political Geography



19 frfafan w1 faem Fiw, :
(@) =@ & FEA
(b) T Hfeady =8 % f
(¢) T wfeadig gIE-ad a1
(d) &M (Taiga) |
e AR FE TR T ?
T

(@ B () (d

a @ @O W @
B @ @ @O @
© 3 (1 @) @2
M @ @ @O @

(1) W= 43

(2) viden 5w & HEH

(3) VERER &

(4) T Ffzadta ow & F=A

00, frefefas gl = frimem &% % wa gifew 0T

et 1
(@) =g wdoH
(b) weiE @

() fafemm £ arfad
(d) Zaui
S :

@ B f© @@
@a @ 1 @ @
B) 4 @ @O @
© 1 @ @ @

m @2 @ @G @
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21.  Which is the third stage in Rostow’s “Stages of Economic Growth” ?

(A)
(B)
(C)
(D)

Drive to Maturity
Pre-condition for take-off
Take-off

Age of high mass consumption

22. In the knowledge pyramid or hierarchy, which elements are respectively at

the base and apex ?

(A)
(C)

Data and wisdom (B) Data and knowledge

Information and wisdom (D) Information and knowledge

23. The ‘growth pole strategies’ failed due to which of the following factors ?

(h

Not implemented properly

(II) Hastily abandoned and quickly discarded

(III) No empirical evaluation

Codes :
(A) (D) and (ID) (B) (I) and (IID)
(C) (II) and (ITI) (D) (D), (II) and (1I1)

24. What are Global Cities ?

(A)
(B)
(C)
(D)

Cities with large proportion of multi-national labour force
Cities with total population exceeding 20 million
Cities with highest tourist inflow

Cities that control a disproportionate amount of global business and

finance
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*mmam'mmaammfmmt?
(A) R F AR g

(B) %-3ifw % fou qd v

(C) .2'.5-3#‘8
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25.

26.

27.

29.

30.

River Satluj enters in India from Tibet through :

(A) Mana pass (B) Shipkila pass

(C) Daralachala pass (D) Niti pass

‘The book perspectives on the Nature of Geography' was authored by :
(A) Derek Gregory (B) Richard Hartshorne

(C) O.H.K. Spate (D) Tim Cresswell

K = 3 relate to : |

(A) Market principle (B) Administrative principle

(C) Transport principle (D) None of these

Which is not assumption in Von Thunen’ theory of Agricultural Location ?

(A) Farmers act as economic men

(B) Agriculture area is a homogeneous

(C) City is the sole market

(D) Labour costs are unequal over the plain

The book “Urbanization and Urban Systems in India” is written by :
(A) H. Ramachandran (B) R. Ramachandran

(C) R.P. Mishra (D) H.N. Mishra

A reef that is directly attached to the shore of an island or continent is
called :

(A) A barrier reef (B) An atoll

(C) Reef-flat (D) A fringing reef

PGT(GEOGRAPHY)-2016—A 14



25. %wmﬁmawamm’??

(A) = (B) forafewen &4
(C) ERrErEre =1 (D) ifq =

26, 'wHifaen 3 T A 3 Wl AEHE (W B oad §
(A) ¥ I (B) fe= vt
(C) AMvA®H | (D) fex F5a«

27. K =3 waEftm ¥
(A) = faga | (B) wvmaf fagm A
(C) v fagia | (D) 378 &/ % 78

08, a1 wr @ Fu sty fagia #) wew @ ¥
(A) mmmﬁawf&a%mﬁﬁm
(B) 3 &3 T% §9F9 ®
(€) W& wHe FeR ¥
(D) mmmmmt

29. ‘syAmeYH Uz FEa fawm @ otEA’ mwmﬁmt?

(A) & HEEA (B) . THE=A
(C) amut. fasn (D) wa.TA. fa=n
30. TE @Y FgW RN ® fFW F yEy §9 I JE 9En f) s € o
(A) FFFM A (B) AT
(C) =ZEH-|HTA (D) M

PGT(GEOGRAPHY)-2016—A 15 P.T.O.



31.

32.

35.

Arrange sensors in increasing order of spatial resolution :
(A) LISS 1V, LISS III, T™™, AWIFS

(B) LISS IV, TM, LISS III, AWIFS

(C) AWIFS, T™M, LISS III, LISS IV

(D) AWIFS, LISS III, T™M, LISS IV

Who is known as father of GIS ?

(A) Jack Dangermond (B) Ian McHarg
(C) Roger Tomlinson (D) John Snow

Change of community structure due to environmental change through time
is called as :

(A) Sere (B) Secondary

(C) Succession (D) Climax

What among the following is not a part of regression equation ?
(A) Intercept (B) Slope

(C) Coefficient of variation (D) Error term

Which among the following is not part of preventive checks put-forth under
Malthusian ideas of population growth ?

(A) Postponement of marriage (B) Celibacy

(C) Moral restraint (D) Famines

PGT(GEOGRAPHY)-2016—A 16



31.

32.

33.

Fud 1 s GEes @ agAF w9 A Etm wit
(A) LISS IV, LISS III, TM, AWIFS

(B) LISS IV, TM, LISS III, AWIFS

(C) AWIFS, TM, LISS III, LISS IV

(D) AWIFS, LISS III, T™M, LISS IV

GIS F1 9% fod @@ o & 2

(A) T Eodre (B) A Hae
(©) T zEfEE (D) ¥ =N
wmammﬁmmﬁzﬁﬁmm%{
(A) ¥ (B) foeitas

(C) HTHH a))at:ﬂa:d
frefafas § |/ sfemm adwm &= 9 983 R o

(A) S ' (B) @&

(©) 7w @ ufEea @) #fe ¥

e & wAgE afg @ faan @ e Frefafea § A FEw JHAW F I
F ®9 # W@ w9 ?

(A) ¥ F wfE FHE oS (B) wer=d

(C) Afaw dz9 D) #HFE
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36. What does rectangular/barrel shape of population pyramid indicate ?
(A) Young population ' (B) High mortality
(Q) Population ageing (D) Low fertility
37. The climate of India is :
(A) Maditerrian type (B) Equatorial type
(C) Desert type (D) Monsoon type

38.  Which one of the following soils found in India is the most useful for

agriculture ?
(A) Black or regur soil (B) Alluvial soil
(C) Red and yellow soif’ (D) Marshy soil

39. Kaziranga the famous sanctuary of Assam is famous for :
(A) Rhmos (B) Tigers
(C) Lions (D) Elephants

40.  Sindri manufactures :
(A) Silk (B) Paper

(C) Steel (D) Fertilizers
PGT(GEOGRAPHY)-2016—A 18



36.

37.

39.

MINFER A AGTER S fgufas @ i ¥ 7

(A) TE SHEEA (B) 3=a §g-al
(C) wgdt 39 W IJTHESA D) = sEEEmE
YA H SAeay ¢

(A) ¥H=E TITE (B) ezl
() weEhT (D) W

(A) Fw sgw P G (B) ot fuzdt

(A) (B) @i
(C) ¥ (D) wf
foedt # @@ &
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41. Koderma, a place in Jharkhand is famous for :
(A) Mica mining centre | (B) Photo goods
(C) Cement factory (D) Leather goods
42. The Farakka Barrage has been constructed on the river :
(A) Hugli (B) Brahmputra
(C) Bhagirathi | (D) Padmini

43, Which of the following factors are responsible for the rapid growth of sugar

production in South India as compared to North India ?

(I) Higher per acre yield of sugarcane
(II) Higher sucrose content of sugarcane

(III) Lower labour cost

(IV) Longe;' crushing period

Codes :
(A) (I) and (II) (B) (I), (II) and (III}
(C) (1), (III) and (IV) (D) (I), (II) and (IV)
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41, gwEE @ wag wew fEaf s s ¥ 7
(A) JVF WA 7 (B) WA T=H
(C) Wiz daefd (D) =W =t =FEA
42, wEE ay (Fw) feE Al W w o ¥ 2
(A) T (B) wergA
(C) Wit (D) el

43. o e e ZiE yRa # o Sed w1 ast @ Hafe # A A anw

It & ?

(1) vwia u#g sfuswaw 7= I9RA
an T # ywn F HawEm
(111 =1 @ &

(IV) =& w99 @& fyud

wE
(A) (D 3 (1) (B) (D, (I) & (IID)
(€) (D, (1) 3 av) (D) (D, (D 3 (IV)
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44. Which of the following groups of rivers originate from the Himachal
Pradesh ?

(A) Beas, Ravi and Chenab (B) Sutlej, Beas and Ravi

(C) Ravi, Chenab and Jhelum (D) Sutlej, Ravi and Jhelum
45. The mountain building in Himalaya began :

(A) About 45 million years ago

(B) When the continental plates of India and Eurasia converged on each

other
(C) Both (A) and (B)
(D) None of the above

46. Which of the following measures are effective for soil conservation in

India ?

(I) Avoiding crop rotation

(I1) Afforestation

(ITTI) Encouraging the use of chemical fertilizers

(IV) Limiting shifting cultivation

Codes :
(A) (I) and (II) (B) (II) and (IV)
(C) (IIT) and (IV) (D) (D), (II) and (III)
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45.

Frefafas # @ S TR w1 o feea Re 3 Feaa ¥ 2
(Ai o, TE s fae (B) Waest, = 3 T
(©) ﬁa?.famamém (D) Haes, TE R FeH
fenrea wag w9 qF B

(A) 4 Fg 50 @rE@ FE TEd

(B) mmmqlﬁmw&m@@mﬁq@

(©) (A) 3 B) 2l

(D) 3w | § wE
mﬁqﬁﬁmémﬁmﬁ%ﬂaﬂmmﬁﬂ ?
(I) FEA FHHO F T

(IN) =Y

(1) Temafes 34w & whr H oagE 3

(IV) g8 @d % @i F

T :
(A) (D) 3 (D) (B) (In) 3 (V)
(C) (1IN #FR (IV) (D) (D), (I 3/ (110)
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47.

49.

Consider the following statements and select the correct answer from the code

given below :
(I) India’s population is characterized by high growth rate

(IT) With the current growth rate it is likely to overtake China in the near

future
(ITI) Out of every six persons of the world one is an Indian
(IV) About 40% of the India’s population is below the poverty line level
Codes :
(A) (D), (II) and (III) are correct (B) (I, (III) and (IV) are correct’
(C) (D), (IIT) and (IV) are correct (D) (I), (I) and (IV) are correct

The greatest amount of Isolation is received by which place of Earth’s

surface 7
(A) Tropical rain forest (B) Tropical desert
(C) Savanna region . (D) Equatorial region

Tides in the sea have stored in them :
(A) Hydraulic energy

(B) Kinetic energy

(C) Gravitational potential energy

(D) A combination of all the above three forms of energy

PGT(GEOGRAPHY)-2016—A 24



47.

49.

frefafan wod © O =@ @ e Re g e @ w8 Iw o
(D) i # SeEen Iwa fawm 5§ afvata o #

(1D mmm%mﬁwuﬁwimaﬁm‘dﬁamﬁ
wadl ®

1) fava & W 2 =fFE § | uE g ¥

(W)maﬂmmmwmmmaﬁm%n

g :
(A) (D), (ID) @ () w& % (B) (ID), (II1) 3 (V) @& ¥
(©) (D, a1 3 av) =& (D) (), (an 2w qav) gd &

gt %1 WA W fFE Se waifuw swemE wrE g E 2

(A) Swrmfzadg awi-a (B) Iorwfzasiia wELae
(C) wm & fam (D) a8

gz #§ wR-we § @ dfes @ ¥ 2

(A) vE-faga =

(D) I9dEa i FER @ FEl B HA

PGT(GEOGRAPHY)-2016—A 25 B T.0.



50. Mohs scale is used to determine :
(A) Degree of brightness of a substance
(B) Degree of brightness of minerals
(C) Degree of viscosity of a liquid
(D) Degree of elasticity of a material

51. Which one of the following is largest million plus city in India according to

2011 census ?
(A) Delhi (B) Mumbai
(C) Kolkata (D) Chennai
52. Soil erosion by raindrop is called :
(A) Rill erosion (B) Inter-rill erosion
(C) Splash erosion (D) Sheet erosion
53. Bench terraces are constructed on land surfaces with :
(A) Steep slope (B) Mild slope

(C) Zero percent slope (D) Grassland
PGT(GEOGRAPHY)-2016—A 26



50. W (Mohs) F1 Wiy @ Ffom ww@ & 2
(A) W= FT HGH HI HE
(B) @ffell #1 &de *1 W
(€) %= = faufawez =t am
(D) =it H EE B OHE

51 2011 3 SEEN masM & SEER NG & frefaiEs # | wew TR T R/

wfaw et awen & 2

(A) feesit (B) H#%

(C) FrerEm (D) =%
52,  @uf B B Aen NERW Fwan ¢

(A) e e ' (B) AT HIE

(C) BTH FerE (D) @ weE
53, wfq ARl W 4w B4 fHw o F wwn s € 2

(A) ©F @ (B) &= 7o

(C) YA wiavm =& D) =rE T=E
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57.

Which state is known as India’s spice garden ?

(A) Karnataka (B) Uttarakhand

(C) Assam (D) Kerala

Where is Dead Sea situated in the following continents ?

(A) Europe (B) Australia

(C) Asia (D) Africa

In India, which coast receives rainfall from north east monsoon ?

(A) Konkan coast (B) Malabar coast

(C) Coromandal coast (D) Gujarat coast

Normal probability distribution is the most appropriate one to use for :

(A) The number of defective TV sets in a lot of 50

(B) The water level in a reservoir

(C) The number of vehicles jumping Red light at a crossing of a road in

a disciplined city

(D) All of the above
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55.

67.

g U9 WRa & TeE mEA' ween ¢ ?
(A) FAesH (B) 3IWrE@s
(C) =%m (D) A

frefafas TeE d§ g9 9rR @l faa ® 2

(A) T09 # (B) w=fam #

() ufen H (D) @i A
qE # fFR o W IR-yd B wEgE 8 aui wa ¥ 7
(A) FiET W (B) WEER W2
(C) ®HHES W (D) 7A@ TR
W Wt faa svdn feed waifus I9gw R 2
(A) 50 % 2 3 Fuqul Far F F TN

(B) w@mwE H 9UHl #1 &R

©) e v d T weE W O A s A e w1 g

(D) ugea ot
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58. Match the items given in List I with items in List II given below :

(@) 'Trewartha, G.T.

(b)

(e)

(d)

List 1

Zelinsky W.

Beaujeu-Garnier J.

Clarke J.L

Codes :

(A)

(B)

(C)

(D)

(a)

(2)

(2)

(4)

(4)

()

(3)

(1)

(3)

(2)

(¢)

(4)

(4)

(1)

(3)

(d)

(1)

(3)

(2)

(1)

(1)

(2)

(3)

(4)

List II
Population Geography (1965)

A Geography of Population :

World Patterns (1969)

A Prologue to Population
Geography (1965)

Geography of Population (1966)

59. Which among the following information is not available from Census of

India 2011 ?

(A) Housing amenities

(C) Languages
PGT(GEOGRAPHY)-2016—A
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(B) Types of disabilities

(D) Consumption expenditure



58, a4 wr g 1 sfw g 11 W W ghew AW

e 1
(@) 2adi sfitA
(b) SfE= =7
(¢) WM =
(d) wH XA
wE

@ @ @©
A 2 @ @
B 2 1O @
€ @ ®& (M
D @ (@ @

(d)
(1)
3)
@

(1)

(1)

(2)

(3)

(4)

et 11
AT FEIE (1965)

u W SE Sigee aed e

(1969)
U W@ 2 YIgEeE SETEl (1965)

e HE IEEE (1966)

50. Frefefaa § @ FF e W e FaE 2011 A WA @ ad ¥ ?

(A) smar gfaurd

(C) wrard
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61.

62.

63.

64.

Which among the following techniques would be applied to represent occu-

pational composition of population ?

(A) Bar graph (B) Pie diagram

(C) Line graph (D) Scatter plot

Which among the following factors is not associated with law of migration ?
(A) Factors associated with area of origin

(B) Personal factors

(C) Place of birth

(D) Intervening obstacles

Disaster Management Act was passed by the Parliament in :
(A) 2004 (B) 2005

(C) 2007 (D) 2009

The term latitude and longitude were coined by :

(A) Homer (B) Plato

(C) Thales (D) Hipparchus

Rank-size rule is useful in the studies of :
(A) Plant Communities (B) Climatic Regions

(C) Settlement Systems (D) Soil types
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61.

62.

64.

mﬁmﬁam@maﬁvﬁémmaﬁﬁﬁ%m
1 wam f&m s ?

(A) =8 WE (B) g1 @
(C) T TTE (D) fa=rol Twof
frefafag § ¥ FW 926 wawd @ fFEm | deg T ¥ 7
(A) T 837 = WY TEE " |
(B) =@ w2

(C) = W

(D) FaUa & =HFIH

e wEvR aAfufae Weg A | Tt e 7

(A) §004 (B) 2005

(€ 2007 (D) 2009
gy ol i F AT fHER w7

(A) B (B) &2

(C) &w (D) s
Soit-sme wne fewed svm | IR ¥ 2

(A) TEF FIEE (B) w@arg &

(C) F4T9l Womre M) YA ¥
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65. A group of interrelated food chains is known as :
(A) Autotroph (B) Heterotroph
(C) Food web (D) None of these
66. Sub-aerial Erosion Theory is connected with :
(A) Submarine canyons (B) Continental slope
(C) Spring tide (D) Ocean current

67. The principal cause of the absence of coral reefs on the western coasts of

continent is :
(A) The upwelling of cold water (B) The warm current
(C) Convergence (D) None of these
68. The progressive wave theory of tides was propounded by :
(A) Newton (B) Harris
(C) Darwin (D) William Whewell
69. What is meant by an atoll ?
(A) Ocean current (B) Mountain summit

(C) An island (D) A type of coral reef
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65 WER H4g W gEe s a9 ¥ e

(A) =l (B) T

(C) %e a= (D) T8 | F T
66. IU-ga Fed faga fEwd wEtva ¥ 2

A) wrgEt T (FFEA) (B) wWe@rita zem

(C) —am-w=T (D) wE =l
67. WERIY & ufvad 9e W M W # uifa W oyHE wRM ¥ o

(A) YitaerE &1 SHE (B) THum

(C) wfirgm (D) T & =
68. =\ & wifaviia @ fagk & w9 .

(A) ==A (B) =

(C) = (D) fafemm R4
69. WATTEAM | ¥ WA T ?

(A) T @t (B) vdda ferer

(C) TF Wrg (D) W W@ F OTER
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70. “Meteorologica” was written by :
(A) Aristotle ~ (B) Plato
(C) Halley (D) W.M. Davis
71. The xerophytic natural vegetation is found in :
(A) The equatorial region (B) The monsoon region
(C) The Sahara region (D) The tundra region
72. The National Association of Geographers, India is based in :
(A) Delhi (B) Kolkata
(C) Chennai (D) Mumbai
73. The name “Hurricane” is given to tropical cyclones in :
(A) The North Pacific Ocean (B) The North Atlantic Ocean
(C) Australia (D) The Bay of Bengal
74. The term “Biosphere” was first used by :
(A) Hutchinson (B) Edward Suess
(C) Odum (D) None of these
75. Which of the following is not an example of the cold winds ?
(A) Mistral (B) Sirocco

(C) Bora (D) Pampero
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70.

71.

72.

73.

74.

75.

"Hettae e fa=l 2

(A LA (B) =& F

(C) %=t 3 (D) =z=g.um. 2faw 3
Tegfi@ (Xerophytic) Wigfow i &al ot st & ?

(A) ume &3 | (B) w4 &7 H

(C) werm &3 # (D) I yam fem waw #
Yo vEfeeER site sy, sfvem el fem € 7

(A) feeet (B) wierma

(C) =3 M) a2

st SwaE @ fau ‘edea’ 9w fe R w2

(A) Io8 WA HREFH (B) 3w edifes WerEm
(C) smeferm m)i’mﬁmﬂ
‘aTreRa’ WIE W99 4R WgE g e

(A) i (B) wgad H¥

(C) =ed (D) o F = T
ﬁmﬁémmm@mmwﬂt?

(A) frga (B) fai=R

(C) = (D) =50
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76.

77.

78.

79.

80.

Caetii 1s associated with :

(A) Heavy rainfall (B) Coniferous forests
(C) Deserts (D) Grassland
Neyvelli is associated with :

(A) Manganese (B) Mica

(C) Lignite (D) Copper

Wind gap is related to :

(A) Glacial erosion (B) Wind erosion

(C) Underground water erosion (D) River erosion
Seismic zonation map of India was revised after :

(A) Latur earthquake (B) Chamoli earthquake
(C) Andaman earthquake (D) Bhuj earthquake

Which of the following landforms is differeht from other three on the basis

of the mode of origin ?
(A) Fold (B) Anticline

(C) Nappes (D) Rift Valley °
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76. F (Cactii) Frd W § 2
(A) Wl aul (B) ¥iwMrl &+
(C) HEHE (D) =E T¥H
77. A&et (Neyvelli) &1 Ha9 § :
(A) B | (B) 21%% H
(C) wu ®gen 4 (D) @& |
78. a9 3ave fHeR wafym § ?
(A) Tewe wed (B) ¥ W FE
() vfama 9@ 1 wea (D) =& =ad
79. WA & sEURAS wiEw AEtaw § duva fees aw fem o ¥ 2
(A) TR THY (B) W [HT
(C) A Y (D) & T

80, Frefafes yfwsd § sk gfrey 3gm & yFR & 3UR W &= dH |

fum % 2
(A) TS (B) u=EemsT
(C) F (D) TW =
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81.

82.

85.

Which of the following princely states possesses more than 150 copper plate

title deeds ?
(A) Kangra : (B) Chamba
(C) Bushahr : (D) Sirmaur

Who led the Sikh army against Suket and Mandi princely states around

1840 AD. ?
(A) Ranjit Singh (B) General Ventura
(C) Sher Singh (D) Jassa Singh Ramgarhia

On which day is ‘Sair festival' celebrated ?
(A) First of Baishakh (B) First of Bhadon
(C) First of Asauj (D) First of Asad

Who tributary is Bhadal stream ?

- (A) Beas (B) Ravi

(C) Chenab (D) Yamuna

Approximately what percentage of total geographical area of H.P. is occupied

by the tribes ?
(A) 10 percent (B) 20 percent
(C) 30 percent (D) 40 percent
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81.

82.

fraforfem # & fog fomma & 99 150 ¥ sifus aw-99 @o-gaa § 2
(A) HITET (B) ==
(C) HER _ (D) fawiv

1840 et & UM gha 3 W fawd & e fFe fea @ w1 39

fam ?
(A) Tha fiE (B) e e
(C) I foz (D) wE fae wEm

Vo wier fee fGE o s ® 2

(A) el qYTE H (B) weet wEl @l

(C) well ™ H (D) weeht maE

vege waum fee @ #1 weEs ¥ 2

(A) =9 | (B) e

(€) fom= (D) =

fey. & wa drifas &% w1 @y fra vl SemdE &9 6 s § 7
(A) 10 wfavm - (B) 26vfam

(C) 80 wiaed . (D) 40 wfavi

PGT(GEOGRAPHY)-2016—A 41 P.T.O.



87.

88.

89.

Which of the following glaciers is located in the Chandra Valley of

Lahaul ?
(A) Bara Shigri (B) Bhadal
(C) Mukkila (D) Dudhon

Which of the following is not a wind instrument ?
(A) Manjira (B) Karnal
(C) Ransingha (D) Shehnai
In which District of H.P. is Shilli sanctuary ?

(A) Solan (B) Shimla

(C) Sirmaur (D) Una

Which of the following was conferred Param Vir Chakra posthumously ?

(A) General V.N. Sharma
(B) Major General AN. Sharma
(C) Major Som Nath Sharma

(D) None of the above

Which of the following hydro-power project is in Beas river basin ?

(A) Jogini (B) Nanti

(C) Toss (D) Kurmi
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86, Frefatan ¥ ¥ e fevw (ARmr) e W wm wd H ¥ 2

(A) =g fargt (B) wEEH
(C) wHfwee (D) FHH
g7. Frefafes 4 4 #vm 97 (fbe) am 722 & § ?
(A) #Hfsma (B) T
(C) TorfEm (D) &

88. fureet woorgw few. & frm P 4 © 2
(A) weA (B) fermem
(C) Faoi (D) &
g9. fFrofafee # 4 fFd woilwo< &R =% |/ &men T 7
(A) e ELUA. T
(B) BeR-¥e TH. 9
(©) R " v
(D) I # A Fg &l
90. frefafea § A $Rd wo-fage @ = @@ =@ 4 & 7
(A) i (B‘)aﬁﬁ

() = (D) =i
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91.

92,

93.

95.

Which Indian state’s tagline is ‘God’s Own Country' 7

(A) Sikkim (B) Kerala

(C) Himachal Pradesh (D) Uttarakhand

Around which year was Haji Ali Dargah of Mumbai constructed ?
(A) 1431 AD. (B) 1526 AD.

(C) 1556 A.D. (D) 1707 A.D.

To which religious denomination does Muni Tarun Sagar of *Kadve Pravachan’

belong ?
(A) Hinduism (B) Buddhism
(C) Jainism (D) Parsi

In which event did O.P. Jaisha participate in the 2016 Rio Olympics ?
(A) 100 mtr. race (B) 200 mtr. race
(C) 800 mtr. race (D) Marathon (about 42 kms)

In which region of India Janamashtami'ce]ebrations involve smashing of pot

of curd by a tall human pyramid ?
(A) Tamil Nadu (B) Odisha

(C) Maharashtra (D) Bihar
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91.

95.

YR ® 9 T w1 TEnd nied o w el ¥ o

(A) fafes (B)

(C) femrael WaW (D) ZwoErs

Hag F wel e Tome @ Peiv e e § osmmam g ?
(A) 1431 Fuat | (B) 1526 ¥=al

(C) 1556 Tt ) 1707 Fweh

‘Hgd yaua' & fou 9 W @@ qf @ ww fEe afiE weeE f At

g2
a) feg (B) #z
(C) ¥ (D) T

2016 ®1 Ty afefos & 209 e 3 g =i d um faan 2
(A) 100 ¥z €= . (B) 200 Hizw s
(C) 800 W= & (D) Fugs (v 42 fEenz)

gra # feg 8 § et § ud § wfEd @ fofas gn 2@ wvd e
e & ?

(A) wfEeETg (B) aiif=wn

(C) WS (D) faEr
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97.

99.

100.

Who is the President of Turkey ?
(A) Ahmet Davutoglu (B) Recep Tayyip Erdogan
(C) Habib Essid (D) Beji Caid Essebsi

Who carried the Indian flag at the closing ceremony of Olympics Games 2016

at Rio 7
(A) Abhinav Bindra (B) Shakshi Malik
(C) P.V. Sindhu (D) Gagan Narang

What is the name of scorpene class submarine which is scheduled to join the

Indian naval fleet ?

(A) INS Angre (B) INS Talwar
(C) INS Khukri (D) INS Kalvari
What is Auschwitz town of Poland known for ?

(A) racial crimes against the Muslims

(B) intolerance against the Sikhs

(C) hatred against the Asians

(D) German death camp of Hitler

Which day is observed in France as Bastille Day ?
(A) March 25 (B) July 14

(C) August 09 (D) November 28
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97.

99.

100.

qH ® e w29 O 2

(A) FEwa SR (B) &9 & w=hm

(C) w9 ufag (D) #sit #g wEEEl

2016 H1 1 e & wa SudE # YRa F =Y anE e 9 ?
(A) fiE o (B) wneft e

(C) A fayg (D) T A

A A H TAgEl W 9REE A8 % 92 0 wige ¥ oW W g, w1 o= Am
t 2

(A) FRTGITE A (B) #AETAYH. FoEH
() SRTTE. gHd (D) IREETE Fead
qds w1 svifaes s feafae s s § 2

(&) TEeT # favg T T # o

B) fodl & whr smfewm & fag

(C) uferm & @ril & wfa g & fag

(D) fezer & w7 wEer &9 & fau

wig § #w 9 afies fiaw & &9 # v s & 2

(A) = 25 (B) <emé 14

(C) 3 09 (D) =& 28
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